Year 10 Mathematics Learning Journey: Unit 5

Step 16 (H): Solve Step 15 (H): Solving
' with a third unknown algebraically
Solve Solve
. X+ 4y =22a XxX=y-—3
y=2x+a x?+2y=9
where a is a constant

Steps 11 & 12: Form and solve
linear equations

Steps 9 & 10: Solve by
adjusting one or both

1000 tickets are sold for a concert.

equations Adult tickets are £10 and Child
tickets are £6. £7304 was collected
Solve .
through ticket sales. Form and
12x — by = -22 solve a pair of linear equations
-8x + 4y = 16 P d '

Steps 6 & 7: Solve by

adding / subtracting

equation Step 4: Substitution
Solve By substitution, find the values
6x +2y =12 of x and y in the equations x +
6x—-2y=0 y=7andy-x=5
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Simultaneous Equations

Step 14 (H): Solving
graphically

How do we represent the
point of intersection
compared to the solution of

the pair of equations?

Step 5: Solve by using graphs

Can there be more than one

pair of solutions to the pair of

simultaneous equations: y =
2xandx+y=9

Steps 2:1Is (x,y) a
solution?

Does the point (3,14) lie
on theliney = 3x + 57
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